
 

Rose’s Witchcraft Interview Quiz #1 – On Love, Money, 
And More! 

 
Please answer all the questions (they are in order, following along with the 

interview) 
 
1.  The only limitation in Witchcraft is your _______________. (fill in the blank) 
 
 
 
2.  It is never right to target and _______ another individual. (fill in the blank) 
 
 
 
3.  What is the underlying reason most people use Love Magick to attract someone 
to them? (hint: what are they trying to fill?) 
 
 
 
4.  What is the first law of Wicca (and most other forms of Witchcraft)? 
 
 
 
5.  What are real (ethical) love spells all about according to Rose? 
 
 
 
6.  A love spell should never ________ someone to you. (fill in the blank) 
 
 
 
7.  Should you cast a money spell for specific amounts?  Why (according to Rose)? 
 
 
 
8.  It is possible that Money spells can hurt someone close to you?  If so, how? 
 
 
 
9.  How long do you have to study Witchcraft to gain power? 
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10.  What is the biggest initial hurdle for casting spells that work? 
 
 
11.  The more you practice Magick, the faster you will advance (and the better your 
spells will work). (true or false) 
 
 
 
12.  Can anyone practice Magick and Witchcraft? 
 
 
 
13.  What is the ONLY requirement to practicing any form of Witchcraft? 
 
 
 
14.  Does Rose believe there is a higher power?  Explain. 
 
 
 
15.  What is “grava”? 
 
 
 
16.   What scientist “paved the way” for science and spirituality to connect? 
 
 

Visit Rose Ariadne at here two websites for more quizzes and 
interviews, along with her life’s work… 

Rose Ariadne’s Blog  
(http://www.rose-ariadne.com) 

Mastering The Magick Of Witchcraft 
(http://www.masteringmagickwitchcraft.com) 
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http://www.masteringmagickwitchcraft.com/dt/t.php?id=39
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